
Preference ICC®

INSTALLATION GUIDE

86.0422.00 Rev J 

Recommended Tools

• Hex key set

• 1/4" open-end wrench

• Drill and drill index

• Phillips head screwdriver (magnetic)

• Standard screwdriver

• #2 Pozidriv® screwdriver for adjusting 
doors

• Adjustable wrenches

• Ratchet

• 5/8" and 5/16" open-end wrenches

• Awl

• 1/2" concrete and 3/8" wood drill bits

• Leveling device (minimum 2' long)

• 3/4" socket (deep) with 6" extension

• 3/4" combination wrench

WARNING Failure to install the 
Preference ICC as described in this 
installation guide may cause the 
unit to collapse, resulting in serious 
injury or death to personnel. 

Before You Begin

• Check with local building and code authorities about 
installation requirements specific to your location.

• Ensure the manual air and water shutoff valves are 
installed where needed.

• The utilities must be installed according to prevailing 
building codes. For pre-installation instructions, refer to the 
A-dec Dental Furniture Pre-Installation Guide (p/n 86.0142.00) 
found in the Document Library on www.a-dec.com.

CAUTION Purge any debris from the air and water 
lines. Failure to do this causes leaks.



Preference ICC Installation Guide

2 86.0422.00 Rev J 

• Determine any high points in the floor, 
and adjust the module height accordingly. 
Modules require 6" (152.4 mm) of clearance 
for the subbase. Use the small end of 
the shipping panel as a 6" (152.4 mm) 
clearance guide.

• If the end of the cabinet is against a wall, 
you must begin placing modules from 
that end first.

NOTE You may need to remove 
the drawers and doors to access the 
barrel bolt holes and anchors.

WARNING A licensed electrician 
must hardwire all electrical 
conduits and cables to the junction 
box under the sink. If the ICC does 
not have a sink module, the 
junction box is not supplied. 
Consult a licensed electrician to 
determine the best connection 
method and location.

Junction boxes and switch boxes 
are not serviceable parts. They 
contain line voltage and should 
only be opened by a licensed 
electrician.

The ground conductor must be 
bonded in accordance with the 
National Electric Code (NEC) and 
any local electrical codes.

Only a licensed electrician should 
access the dryer enclosure. When 
the optional dryer is selected, the 
cabinet (dryer and lighting) must 
be connected to a dedicated 20 amp 
120 VAC circuit. To prevent 
nuisance tripping of the circuit 
breaker and to ensure proper 
operation of the dryer, no other 
loads can be included on this 
circuit. Do not use 220 VAC.

CAUTION Do not use the top of the 
ICC as a storage shelf. Ensure the 
ventilation hole is not covered.

Figure 1.  Shipping Panel Clearance Guide



Preference ICC Installation Guide

86.0422.00 Rev J  3

Table 1.  Hardware List

Image and Description Image and Description

Barrel bolt M4 x 25.5 mm with Phillips head machine screw-
M4 X 11.5 mm secure modules together

Phillips head screw-#10 x 5/8" connects power boxes and 
task lights to upper storage

Phillips head screw-#8 x 1-1/4" connects modules to 
countertop that is 1-1/2" (38.1 mm) thick

Phillips head machine screw-6-32 x 5/8" with lock nut-#6-
32 x 5/16" x 9/64" secures master panel to module

Phillips head screw-#10 x 1-1/4" connects modules to 
laminate countertop that is 3/4" (19.1 mm) thick

Phillips head screw-#6 x 1/2" connects master panel to 
adjacent module

Phillips head screw-#10 x 7/8" connects modules to 
solid surface countertop that is 3/4" (19.1 mm) thick

Anchor stud-1/2 x 5-1/2" anchors cabinet to 
concrete floor

Phillips head machine screw-#10-32 x 1" connects modules 
to Quartz countertop Lag bolt-1/2 x 3-1/2" anchors cabinet to wood floor

Allen bolt-1/4-20 x 2-3/4" connects column to countertop 
that is 1-1/2" thick (38.1 mm)

Phillips head screw-#8 x 1/2" connects ends and fronts of 
subbase

Allen bolt-1/4-20 x 2" connects modules to 
countertop that is 3/4" (19.1 mm) thick

Flathead (confirmat) screw-5 mm x 2" with white cover cap 
connects filler panel to full end cap

Allen bolt-1/4-20 x 1-1/2" connects column to 
upper storage



Preference ICC Installation Guide

4 86.0422.00 Rev J 

Assemble the Cabinetry

Install the Corner Module
1. Attach a gap panel to each side of the 

Corner module. See Figure 2.

2. Place the module in the corner and align 
the back corner of the cabinet with the 
corner of the wall.

NOTE Install Corner modules 
first. If you do not have a Corner 
module, go to “Assemble the 
Preference ICC Modules” on 
page 6.

Figure 2.  Attach the Gap Panels

Gap 
Panel

Gap 
Panel



Preference ICC Installation Guide

86.0422.00 Rev J  5

3. Level the module using the leveling feet. 
Verify the module is level front-to-back 
and side-to-side. Six inches (152.4 mm) of 
space is required for the subbase to fit 
correctly. See Figure 3.

NOTE If you need to 
disassemble the corner module 
when moving it into a building, 
refer to the number on each piece 
for the proper sequence of 
disassembly (10 - 1) and 
reassembly (1 - 10). 

Figure 3.  Exploded View of Corner Module



Preference ICC Installation Guide

6 86.0422.00 Rev J 

Assemble the Preference ICC 
Modules
Assemble the “Clean” or “Receiving 
Side” of ICC

1. Remove the shipping panel, and place 
the first module in position.

2. Level the module using the leveling feet. 
Verify the module is level front-to-back 
and side-to-side. Six inches (152.4 mm) of 
space is required for the subbase to fit 
correctly.

3. Place the next module, and route the 
tubing and wiring through the routing 
holes. See Figure 4.

4. Level each module once it is in place. 
Verify the module is level front-to-back 
and side-to-side. Verify the module side 
panels align and are flush with the first 
module.

5. Attach the modules together using eight 
barrel bolts and screws. Start with the 
four bolts and screws in the lower 
section, and then move to the upper 
section.

6. Repeat steps one through five for each 
additional module.

NOTE If you are installing a 
Corner module, see “Install the 
Corner Module” on page 4.

Figure 4.  Preference ICC Exploded View, Midsection Assembled

Item Description

A Shipping Panel

B Leveling Feet

C Tubing and Wiring

D Routing Hole

E Level Module Here

F Module Attachment Screws

A

B

C

D

E

F



Preference ICC Installation Guide

86.0422.00 Rev J  7

Assemble the Middle Modules
1. Position the first middle module within a 

couple of inches of the installed end 
modules. See Figure 4.

2. Level the middle modules using the 
leveling feet. Verify the module is level 
front-to-back and side-to-side. Align the 
side panels with the adjacent middle 
modules and the end modules. 

3. Attach the gap panels to the back of the 
middle modules.

4. Attach all the middle modules together 
using the barrel bolts and screws. Start 
with the four bolts and screws in the 
lower section, and then move to the 
upper section.

5. Place and center the countertop onto the 
middle module section. Do not attach it 
at this time.

6. Place the support columns on each end of 
the countertop with the three adjustment 
screws at the top. Slightly loosen the 
adjustment screws. Start at the top and 
loosely attach the support columns to the 
upper structure using two Allen bolts 
(1/4-20 x 1-1/2"). 

Loosely attach the support columns to 
the countertop using two Allen bolts. See 
Table 1 on page 3 for correct size, which 
depends on countertop thickness. 

7. Slide the complete middle module 
assembly into place against the end 
modules.

8. Attach the middle module and the end 
module together using the barrel bolts 
and screws. Start with the four bolts and 
screws in the lower section, and then 
move to the upper section.

NOTE There is a 2-1/4" (57.2 mm) 
gap between the wall and the 
middle modules.

Figure 5.  Preference ICC Exploded View, Midsection Assembled

Item Description

G Gap Panel

H Countertop for Middle Section

J Support Column

K Filler Panel

L Seal Ends of Countertop to Adjacent Module

G
H

J

K

L



Preference ICC Installation Guide

8 86.0422.00 Rev J 

Remove the Dryer (optional)
1. Open the dryer, and remove the e-clip 

and pin from the pneumatic cylinder 
bracket.

2. To remove the dryer, pull the left-side 
locking tab up and push the right-side 
locking tab down while carefully pulling 
the drawer out. See Figure 7.

3. Place the dryer in front of the cabinet and 
proceed with connecting the modules.

Finish the ICC Assembly
1. Position, level, and attach the remaining 

end modules.

2. Attach the countertop using the Phillips 
head screws provided in the ship kit.

3. Tighten the column adjustment screws 
and attachment screws. See step 6 on 
page 7.

4. Attach the filler panel using the standard 
screw and white cover cap, if applicable.

5. Seal the ends of the countertop to the 
adjacent modules using RTV 
silicone adhesive.

NOTE The hardware required 
to attach the countertop is based 
on the type of countertop 
installed. See Table 1 on page 3.

NOTE An optional filler 
panel may be sent with the 
Preference ICC. The panel 
provides up to 7" (177.8 mm) of 
laminate covered filler board to 
close the gap between the 
cabinet and wall. We 
recommend a finish carpenter 
or skilled wood worker cut to fit 
and install the filler panel with 
the screw and cover cap.

Figure 6.  Disconnect Pneumatic Cylinder

Figure 7.  Disengage the Glide Locking Tabs

E-Clip

Pneumatic 
Cylinder 
Bracket

Pin

Right Side

Left Side



Preference ICC Installation Guide

86.0422.00 Rev J  9

Set Up the ICC System

This section explains how to set up the ICC 
system once the cabinetry is assembled.

Install the Task Light
The ICC task lights extend the length of the 
countertop. Begin mounting the lights at one 
end following these steps.

1. Use the pre-drilled pilot hole(s) to 
position the light(s):

○ When installing only one light, or the 
first light, use the pilot hole on the left 
side of the light.

○ If installing a second light, use the 
pilot hole on the right side of the 
second light.

2. Mark the screw hole locations for the 
self-tapping screws.

3. Use the screws (two in each bracket) to 
secure the light(s).

4. Route excess power cords and 
cables through the holes in the back 
of the module.

Install the Master Panel
1. Fit the locking cam over the lock.

2. Turn the cam screw 1/2 turn to 
the right.

3. Attach the master panels to each other 
using two Phillips head screws (6-32 x 
5/8") with two nuts (#6-32 x 5/16" x 
9/64").

4. Attach the master panel to the adjacent 
upper storage using two Phillips head 
screws (#6 x 1/2").

Figure 8.  Install Task Light

Figure 9.  Attach Master Panel to Adjacent Module

#6-32 
Lock 
Nut

#6-32 x 
5/8" 
Machine 
Screw



Preference ICC Installation Guide

10 86.0422.00 Rev J 

Install the Power Boxes
1. Attach the power box with the switch on 

the end of the middle upper cabinets, 
closest to the (optional) sink, using the 
two Phillips head screws (#10 x 5/8"). 
Position the power box with the conduit 
towards the back panel. 

2. Route the electrical conduit through the 
hole in the back panel.

3. Attach the rectangular power box 
(optional) on the opposite end of the 
midsection upper using the two Phillips 
head screws (#10 x 5/8"). Place the cord 
towards the back panel. 

4. Connect the cord from the rectangular 
power box into the power box 
with switch.

5. Connect the task light power cords to the 
power boxes.

6. Restrain the cords and cables using the 
retaining clips. Neatly tie the cords and 
cables to the master panel bracket so they 
are not visible.

Connect the Wiring for the 
Storage Fans
1. Route the wiring from the fans down 

through the gap behind the upper 
storage and out through the holes behind 
the middle modules.

2. Route through the lower holes to the 
module containing the outlet.

3. Attach the red wire from the fan to the 
black with white dashes wire from the 
transformer.

4. Attach the blue wire from the fan to the 
black wire from the transformer.

WARNING The conduit must be 
attached to the quad box in the 
sink module by a licensed 
electrical contractor. If there is 
no sink, the module conduit 
will be connected to the floor 
quad box by a licensed electrical 
contractor. 

Figure 10.  Attach Power Box

Figure 11.  Attach Rectangular Power Box

Figure 12.  Connect Wiring for Storage Fans

#10 x 5/8" Phillips Head Screw

Cabinet 
Front

Cabinet 
Front

#10 x 5/8" 
Phillips 
Screw

12 Volt

Black with 
White Dash

Black Blue

Red



Preference ICC Installation Guide

86.0422.00 Rev J  11

Connect the Dryer to Power
Route the wiring from the IR switch to the 
connecting wire in the control board 
enclosure located underneath the sink.

Connect the Adjacent Upper 
Storage Lights
1. Slide the back panel of the storage area 

up, and then pull it forward and out to 
remove it.

2. Connect the power cord from the 
adjacent module into the short power 
cord coming from the upper storage light 
power box.

3. Reinstall the back panel. Ensure the back 
panel slides behind the tabs.

4. Install the light bulb.

5. Slide the light cover into the plastic 
molded panel from back to front.

6. Plug the light power cord into the power 
box located in the middle module.

Figure 13.  Connect IR Switch to Circuit Board Enclosure

Figure 14.  Remove Back Panel

Figure 15.  Connect Adjacent Power Cords

Figure 16.  Install Light Bulb and Cover

+ + 



Preference ICC Installation Guide

12 86.0422.00 Rev J 

Adjust the Tub Drawer Fronts
1. Remove the inner two locking screws.

2. Loosen the outer two cam screws.

3. Position the front panel so it has a 5/32" 
(4 mm) gap above and below and a 3/32" 
(2.4 mm) gap on both sides.

4. Tighten the cam screws. Verify the panel 
is still in the correct position.

5. Drill a 1/16" pilot hole in the untapped 
holes and install the locking screws to 
secure the front panel.

Adjust the Tray Drawer Fronts
1. Remove the locking screws from each 

bracket.

2. Loosen the cam screws on each bracket.

3. Position the front panel so it has a 5/32" 
(4 mm) gap above and below and a 3/32" 
(2.4 mm) gap on both sides.

4. Tighten the cam screws. Verify the panel 
is still in the correct position.

5. Drill a 1/16" (1.6 mm) pilot hole in 
the untapped holes and install the 
locking screws to secure the front panel 
in place.

Adjust the Knee-activated 
Drawer Fronts, Top or Bottom
1. Loosen the locking screws from the door 

front.

2. Turn the allen head screw in to push the 
door out at the bottom. 

3. Remove the screw and install at the top 
to adjust the top of the door out. 

4. Tighten the lock screws.

Adjust the Knee-activated Door 
Front, Side-to-side
1. Remove the locking screws.

2. Loosen the cam screws.

3. Position the front panel so it has a 5/32" 
(4 mm) gap above and a 3/32" (2.4 mm) 
gap on both sides.

4. Tighten the cam screws. Verify the panel 
is still in the correct position.

Figure 17.  Remove Inner Locking Screws

Figure 18.  Remove Locking Screws

Figure 19.  Adjust Knee-Activated Drawer Fronts

Cam 
Screws

Locking 
Screws

Leveling 
Screws



Preference ICC Installation Guide

86.0422.00 Rev J  13

5. Drill a 1/16" pilot hole in the untapped 
holes and install the locking screws to 
secure the front panel in place.

Adjust the Cricket Touch Latch
1. Remove the locking screws from the non-

slotted holes in the latch.

2. Loosen the screws in the slotted holes.

3. Position the latch to catch the drawer 
front at the desired distance from 
the cabinet.

4. Tighten the screws in the slotted holes.

5. Drill 1/16" pilot holes and attach 
the locking screws to secure the latch in 
place.

Adjust the Dryer Front
The dryer face adjusts similarly to the knee-
activated drawer front. See “Adjust the 
Knee-activated Door Front, Side-to-side” on 
page 12.

1. Slightly loosen the four existing cam 
screws.

2. Position the front panel so it has 
a 5/32" (4 mm) gap above, and a 3/32" 
(2.4 mm) gap on both sides.

3. Tighten the cam screws. Verify the panel 
is still in the correct position.

4. Drill a 1/16" (1.6 mm) pilot hole in 
the untapped holes and install the 
locking screws to secure the front panel 
in place.

Adjust the Metal Drawer Fronts
1. Turn the screw in the hinge clamp to the 

right to move the drawer front up. See 
Figure 21. If the front needs to move 
down, go to the next step.

2. Open the hinge with a screwdriver, turn 
the screw in the hinge clamp to the left 
and push the front down. See Figure 22. 
Close the clamp and turn the screw to the 
right until the door front is in the desired 
position.

NOTE Locking screws are taped to 
the inside of the door front.

Figure 20.  Adjust Knee-Activated Drawer Latches

Figure 21.  Move Drawer Front Up

Figure 22.  Move Drawer Front Down

Screw



Preference ICC Installation Guide

14 86.0422.00 Rev J 

Adjust the Hinged Doors

The ICC doors adjust for depth, height and 
side-to-side alignment.

• Depth Adjustment: Turn screw (A) on 
the upper and lower hinges until the 
door is in the desired position. See 
Figure 23.

• Height Adjustment: Loosen screw (B) on 
both the upper and lower hinge 
mounting plate one-quarter turn. Move 
the door up or down to the desired 
position, and then tighten the screws. See 
Figure 23.

• Side-to-Side Adjustment: Turn screw 
(C) on both the upper and lower door 
hinges until the door is in the desired 
position. See Figure 23.

Soft Close Adjustment
The soft close mechanism can be adjusted. 
Turn the screw counterclockwise to further 
dampen the door closing. 

CAUTION To avoid stripping the 
screws, use a #2 Pozidriv 
screwdriver when making 
adjustments to the door hinges. 

NOTE The soft close device can be 
overextended, causing it to stick. 
Turn the adjustment screw 
clockwise until the mechanism 
releases.

Figure 23.  Adjust Hinged Doors

Figure 24.  Soft Close Adjustment

A B

C

A

BC

Depth

Height

Side-to-Side



Preference ICC Installation Guide

86.0422.00 Rev J  15

Adjust the Foot-Activated Doors
1. Loosen the screw in the slotted hole of 

the wedge.

2. Slide the wedge until the door is 
in the desired position and tighten 
the screw.

3. Drill a 1/8" (3.2 mm) pilot hole in the 
untapped hole of the wedge.

4. Install a locking screw to secure 
the door.

Connect the Water Supply
1. Purge the air and water manual shutoff 

valves of debris.

2. Remove the nuts from the water manual 
shutoff valves and discard the brass 
compression sleeves.

3. Install a filter into the gray tube and 
install the tubing to the shutoff valve.

Install the Air-Actuated Shutoff 
Valves
1. Cut both gray tubings 6" (152.4 mm) 

from the manual shutoff valves.

2. Remove the nuts from the air-actuated 
valves and discard the brass compression 
sleeves.

3. Slide the nuts and new plastic 
compression sleeve onto the gray tubing 
with the tapered end of the compression 
sleeve pointed towards the end of the 
tubing.

NOTE You must install the air-
actuated shutoff valves in the 
direction shown.

Figure 25.  Adjust Foot-Activated Doors

Figure 26.  Install Tubing to Shutoff Valve

Figure 27.  Install Air-Actuated Shutoff Valves

To Manual 
Shutoff Valves

Air-Actuated 
Valve



Preference ICC Installation Guide

16 86.0422.00 Rev J 

4. Connect the pilot air tubing (yellow with 
red dashes, 1/8" OD) from the faucet 
foot-activated kickplate valve on the 
subbase to the tee in the pilot air tubing 
coming from the two water shutoff 
valves.

5. Connect the master air tubing (yellow 
with red stripe, 1/8" OD) to the 
air manifold.

Plumb the Foot-Activated Doors
1. Ensure all of the air tubing from the 

cylinders on the foot-activated doors is 
routed to the kickplates.

2. Attach the orange with black dash tubing 
to the 4-way binary valve.

3. Attach the yellow with red dash tubing 
from the foot-activated kickplate valve to 
the air manifold under the sink.

CAUTION Do not shorten 
the tubings. The tubing length 
provides the correct air cushioning 
for the foot-activated door function.

Figure 28.  Foot-Activated Faucet Assembly

Figure 29.  Foot-Activated Doors Flow Diagram

Yellow with 
Red Dashes

Air Manifold

Yellow with 
Red Stripe

Foot-Activated 
Kickplate Valve

Air Shutoff Valve

Water 
Shutoff 
Valves

Cylinder on Upper 
Storage Doors

Foot-
Activated 
Kickplate 
Valve4-Way 

Binary 
Valve

Air Manifold

Orange 
with Black 
Dashes

Yellow 
with Red 
Dashes



Preference ICC Installation Guide

86.0422.00 Rev J  17

Plumb the Foot-Activated Dryer
1. Ensure all of the air tubing from the 

cylinder on the dryer is routed to 
the kickplate.

2. Attach the orange with black dash tubing 
to the 4-way binary valve.

3. Attach the yellow with red dash tubing 
from the foot-activated kickplate valve to 
the air manifold under the sink. 

Anchor the ICC
1. If module access permits, anchor the ICC 

according to Figure 33 on page 18. If 
access to the modules does not permit 
the Figure 33 layout, distribute all of the 
supplied anchors evenly between the 
front and rear feet of the ICC.

2. Hook an anchor onto the foot and then 
use the front slot only to mark the anchor 
clip hole location on the floor.

Drill the Holes
1. Drill the hole for the type of floor:

○ Concrete Floor
Drill the marked anchor bolt holes 
1/2" (12.7 mm) in diameter and a 
minimum of 3-1/2" (88.9 mm) deep.

○ Wood Floor
Drill the marked lag screw holes 3/8" 
(9.5 mm) in diameter and a minimum 
of 
2-1/2" (63.5 mm) deep.

2. Remove any debris from the holes.

Figure 30.  Foot-Activated Dryer Flow Diagram

Figure 31.  Anchor Positions

Figure 32.  Anchor the Leveling Foot

Dryer 
Cylinder

4-Way 
Binary 
Valve

Pre-
Regulator 

Foot-
Activated 
Kickplate
Valve

Yellow 
with Red 
Dashes

Orange 
with Black 
Dashes

Air Manifold

X = Anchor 

Anchor to this Slot Only



Preference ICC Installation Guide

18 86.0422.00 Rev J 

Secure the Anchor
1. Secure the anchor to the floor with a 1/2" 

anchor stud for a concrete floor and a 
1/2" lag bolt for a wood floor.

Install the Subbase and 
Kickplates
1. Begin from the left end of the ICC and 

snap the subbase onto the leveling feet.

2. Attach the corner and ends of 
the subbase using the #8 x 1/2" Phillips 
head screw.

3. To ensure a finished appearance, attach 
the subbase splice to the end of each 
subbase. Begin at the end of the last 
module and work away from that end.

NOTE Concrete floors must be a 
minimum of 5" (127 mm) deep and 
wood floors must be a minimum of 
3" (76.2 mm) deep to properly 
anchor the ICC. If the floors do not 
meet the minimum thickness, 
please consult a licensed engineer 
for alternate mounting instructions.

Figure 33.  Secure Anchor to Floor

Figure 34.  Install Subbase and Kickplate

Concrete Wood



Preference ICC Installation Guide

86.0422.00 Rev J  19

Figure 35.  Install Subplate Splices

Install the HVE
1. Mount the HVE bezel on the countertop.

2. Route the HVE tubing down through the 
countertop hole.

3. Determine the length of tubing needed to 
use the HVE in the sterilization center 
and cut it to fit. 

4. Use RTV silicone adhesive to glue the 
5/8" adaptor to the HVE tubing on one 
end and the 5/8" flexible tubing on the 
other end.

5. Attach the free end of the 5/8" flexible 
tubing with the RTV silicone adhesive to 
the vacuum stub in the wall behind the 
sink module.

End of Last 
Module or 
5591 
Corner 
Module

Begin 
Here

Work This 
Direction



Preference ICC Installation Guide

20 86.0422.00 Rev J 

Install the Delta® Faucet
Refer to the instructions in the Delta faucet 
kit. Use only the single hole escutcheon to 
install the faucet.

Activate and Program the 
Clock/Timer
Follow these instructions to activate the 
clock/timer , and then use Table 2 for 
programming. See Figure 36.

1. Pull the plastic tab from the battery 
terminal.

2. Insert the battery with the poles oriented 
in the right direction and it will easily 
snap into place.

Install the Storage Racks
1. Hook the tabs on the shelves into the 

key-holed brackets on the back panels of 
the modules or inside the upper storage 
area. See Figure 37.

2. Install the filler panel and subbase trim.

Attach the subbase trim to the bottom 
of the filler panel and the subbase using 
the self-adhesive tape on the back of 
the trim.

Figure 36.  Set Clock/Timer

Table 2.  Program Clock/Timer

Figure 37.  Install Storage Racks

To do this... Press and hold...

Set the time set clock and hour, min, or sec

Set 12/24 hour display 
formats

set timer and set clock AM/PM will only be 
displayed for the 12 hour format

Set the count down timer set timer and min or sec until the desired 
time is reached

Start the timer start/stop

Stop the timer start/stop

Clear the timer Stop the timer then press and hold timer 
for three seconds

Recall last start time Recall while timer is stopped

Select timer 1 or 2 timer 1/2



Preference ICC Installation Guide

86.0422.00 Rev J  21



Preference ICC Installation Guide

22 86.0422.00 Rev J 



Preference ICC Installation Guide

23 86.0422.00 Rev J 



Preference ICC Installation Guide

A-dec Headquarters
2601 Crestview Drive
Newberg, OR 97132 USA
Tel: 1.800.547.1883 Within USA/Can
Tel: +1.503.538.7478 Outside USA/Can
Fax: 1.503.538.0276
www.a-dec.com

A-dec Inc. makes no warranty of any kind with regard to 
the content in this document including, but not limited to, 
the implied warranties of merchantability and fitness for a 
particular purpose.

ÍvÈ.Ç$6È.00EÎ

86.0422.00 Rev J
Copyright 2018 A-dec Inc.

All rights reserved.
IGunbw16

Regulatory Information 

Regulatory information mandated by 
agency requirements is provided in the 
Regulatory Information, Specifications, and 
Warranty document (p/n 86.0221.00), which 
is available in the Document Library at 
www.a-dec.com.

All trademarks cited herein are the property 
of their respective owners.

Product Models and Versions Covered in This Document 

Models Versions Description

5590 A Dental Furniture


	Recommended Tools
	Before You Begin
	Assemble the Cabinetry
	Install the Corner Module
	Assemble the Preference ICC Modules
	Assemble the “Clean” or “Receiving Side” of ICC
	Assemble the Middle Modules
	Remove the Dryer (optional)
	Finish the ICC Assembly


	Set Up the ICC System
	Install the Task Light
	Install the Master Panel
	Install the Power Boxes
	Connect the Wiring for the Storage Fans
	Connect the Dryer to Power
	Connect the Adjacent Upper Storage Lights
	Adjust the Tub Drawer Fronts
	Adjust the Tray Drawer Fronts
	Adjust the Knee-activated Drawer Fronts, Top or Bottom
	Adjust the Knee-activated Door Front, Side-to-side
	Adjust the Cricket Touch Latch
	Adjust the Dryer Front
	Adjust the Metal Drawer Fronts
	Adjust the Hinged Doors
	Soft Close Adjustment
	Adjust the Foot-Activated Doors
	Connect the Water Supply
	Install the Air-Actuated Shutoff Valves
	Plumb the Foot-Activated Doors
	Plumb the Foot-Activated Dryer
	Anchor the ICC
	Drill the Holes
	Secure the Anchor

	Install the Subbase and Kickplates
	Install the HVE
	Install the Delta® Faucet
	Activate and Program the Clock/Timer
	Install the Storage Racks


	Regulatory Information


<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
    /IDAutomationC128L
    /IDAutomationC128M
    /IDAutomationC128S
    /IDAutomationC128XL
    /IDAutomationC128XS
    /IDAutomationC128XXL
    /IDAutomationC128XXS
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


